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BB —— BRENEE - . SIERH | FIBIRE | FIRIRE
RmEPH 653 — 20 — — 240 10 10 120 —
IR EIRES
e 534 - - — — 10 0 o] 0 —
] 588 - - - - - - - - -
==k 538 — — — — — — — — —
ERRM 538 — — — — — — — — —
J\iEH 534 - - - - - - — - -
RADH 588 - — - - - - - - -
A2 5838 — — — — — - — — —
AIEHE 583 — — — — — — — — —
ZHELLIE] 534 - - — — 6] 0 — 0 —
FHFH 588 - - — — — — — — —
FemRE 5838 — — - - — - — - -
S ER 583 — — — — — — — — —
0ZRE] 583 - - - - - - - - -
FEEEH 588 - - - - - — — - -
LA 5838 — — — — — — — — —
IVt = = = = 10 0 (o] 0 —
ARLERER
=Tl 53 - o] — — 190 40 40 70 —
™ 683 0 70 0 (o) 390 30 50 360 —
REHRHE] 6388 — 20 — — 90 10 10 120 —
IVET 0 90 0 0 670 80 100 550 —
FRLEEREER
BRI 6838 0 130 0 0] 1,210 120 160 840 0
380 2,090 360 590 3,700 8,080/ 3,050
EES™ WE| 7 200 1,930 300 590| 24,120 7,160 3,680 7810 3050
b 180 160 60 0 20 270
1&5RH 6388 0 150 0 0 890 70 150 970 0
INET 380 2,370 360 590 4,010 9,890| 3,050
HE 200 2,210 300 590| 26,220 7.350 3,990 9620 3050
e 180 160 60 0 20 270
R#LEIRER
340 1,730 430 350 4,010 5,210 2,050
9= hE 7 270 1,600 380 350 8,660 3,030 3,980 4,850 2050
2 70 130 50 0 30 360
260 2,650 400 370 4,600 10,490| 3,520
RAYET | ME | 638 260 2,650 400 370 14,790 4,200 4600| | 10490] 3520
2 — — — - - -
100 330 20 40 770 1,100 310
FHRE] hE 7 50 290 80 40 1,050 340 750 850 310
D5 50 40 10 — 20 250
100 1,080 160 170 1,890 4,130| 1,640
5558 | WE| 6% 100 1,080 160 170 7,180 2,150 1,890 4,130 1,640
2 — — — — — —
INET 800 5,790 1,080 930 11,270 20,930| 7,520
= 680 5,620 1,020 930| 31,680 9,720| | 11,220| | 20320| 7,520
2 120 170 60 0 50 610
1,180 8,270 1,440 1,520 15,390 31,490| 10,570
=5 HE 880 7,940 1,320 1,520| 58,820 17,160|| 15320| | 30610] 10,570
2R 300 330 120 0 70 880
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K67 HWERERBR (Fo4 : HNERE)
ABEE (N BUMwE B
BEIES %ﬁ aEEy BHESR
=R N ; N i | srasiswo | “
BB J—— BB - . SIBRE | FIBIRE | FIRIRE
RmEPH 653 (o} 40 — — 530 30 30 240 —
IR EIRES
B 534 — 0 — — 90 20 10 30 —
e 538 — 0 — — 20 0 o] 10 —
==k 538 — 0 — — 10 — — 10 —
ERRM 538 — 0 — — 20 — — 10 —
J\iEH 538 — 0 — — 180 40 20 40 —
REDH 538 - - — — 0 — — 0 —
A2)H 538 — — — - (o] — — 0 —
AIEHE 538 — — — — o] — — 0 —
ZHELLE] 538 — 0 — — 60 10 10 20 —
FHFH 538 - — — — — — — — —
FEERE 5838 - — — — — - — — —
HEn 583 — — — - — — — — —
FORET 588 — — — — — — — — —
FEEEH 534 - — — — — - — — —
LA 5838 — — — — — — . — —
IVt = 0 = — 380 70 40 120 —
ARLERER
=Tl 534 — 20 — — 390 60 60 180 —
™ 6838 — 30 — — 230 20 30 210 —
REHRHE] 6388 o] 60 o] 0 240 10 20 300 —
INVET 0 110 0 0 860 90 110 690 —
FRLEERER
BRI 638 130 1,740 220 360| 13,330 2,440 2,720 7,770 330
220 1,900 330 630 3,840 7,370 3,170
5EES™ HWE | 68 220 1,890 330 630| 23,380 7,440 3,840 7,360 3170
IR 0 10 0 — — 10
1&5RH 638 40 980 70 70 4,800 530 1,010 4,950 10
INET 390 4,620 620 1,060 7,570| 20,090| 3,510
HE 390 4,610 620 1,060| 41,510 10,410 7,570| | 20080 3510
e 0 10 0 — — 10
R#LEIRER
810 2,240 910 850 8,930 3,150 3,810
=9=3s] hE 7 810 2,230 910 850 12,220 6,380 8,930 3130/ 3810
2R 0 10 0 - - 20
2,950 8,040 3,590 3,460 35,250 9,210| 7,550
RIGEDH | MEE 7 2,940 8,030 3,590 3460| 41,440 22,210|| 35240 9190 7,550
e 10 10 0 — 10 20
10 110 20 10 190 500 0
FHRE] WE | 6% 10 90 10 10 330 60 190 400 0
D5 0 20 10 — 0 100
1,250 2,860 1,350 1,530 13,290 2,270| 3,660
53858 | #E| 7 1,250 2,860 1,350 1,530 18,050 10,360| | 13,290 2270 3660
I — — — — — —
INET 5020 13,250 5,870 5,850 57,660 15,130| 15,020
= 5010| | 13210 5,860 5850| 72,040/ 39,010| | 57,650| | 14,990 15020
2 10 40 10 — 10 140
5410| 18,020 6,490 6,910 65,410 36,270| 18,530
&5t HE 5,400| | 17,970 6,480 6910| 115,320| 49,610| | 65400| | 36,120 18530
2 10 50 10 — 10 150
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ITWHRSBCRIDIBES %3 10 A O A 10 A 100.0%8
HERNKICKDIESE X4 60 A O A 60 A 100.0%8
BRICK DS X5 300 A 70 A 230 A 76.7%)m8
2R XA 15,390 & 3570 & 11,820 1% 76.8%m8
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